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INSTRUCTIONS AND INFORMATION

1. This question paper consists of FOUR sections:
SECTION A: Comprehension (30)
SECTION B: Summary (10)
SECTION C: Language (60)
SECTION D: Literature (20)
2. Answer ALL the questions.
3. Start EACH section on a NEW page.
4. Leave a line after each answer.
5. Number each answer exactly as the question is numbered in the question
paper.
6. MULTIPLE-CHOICE QUESTIONS: Write down only the question number

and the letter corresponding to the correct answer.

ONE-WORD RESPONSES: Write down only the question number and the

answer.
7. Pay special attention to spelling and sentence construction.
8. Write neatly and legibly.
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SECTION A: COMPREHENSION

QUESTION 1

Read the passage (TEXT A) below and answer the questions that follow.

TEXT A

1.

High school pupils from Gauteng World Cup host cities took time out to learn
more about life skills, the environment and its conservation. More than 400
pupils from various schools were randomly chosen to take part in a week-long
camp as part of the Department's water and conservation campaign.

As part of the annual camp hosted by the Department of Water Affairs in
Gauteng, this year's project included the World Cup theme, youth month and
conservation. Pupils were able to watch the soccer spectacle in their camp at
the Ithuba Community School in Ekurhuleni.

The pupils woke up at the crack of dawn every day and climbed a hill in the
nature reserve. Once at the top they waited for the sun to rise and then sang
the national anthem. "This is a great experience, but | wish we did not have
to wake up so early," said 17-year-old Thabiso Mokete.

One of his peers, Jacqueline Mbatha, said the camp had stimulated her
interest in environmental studies. "l have learnt that for us human beings to
survive, we need to look after our environment," Mbatha said.

They were taught about plants and animals, recycling, how to save water, and
about the local plants and how to save them. They also had to go into a
township and learn about water cleansing. The Department is in partnership
with the Ekurhuleni Municipality and the East Rand Water Care Company.

Motivational speakers and life coaches were also invited to encourage the
youngsters. One of them was young businessman, Billy Bhembe. He had
the pupils' undivided attention when he told them about how he had worked
against all odds to become a successful businessman. "Do not let anyone
stand between you and your dream. Anything is possible if you put your mind
to it," Bhembe said.

[Adapted from: Sowetan, 25 June 2010]
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1.2

1.3

Copyright reserved

What did the high school pupils from Gauteng World Cup host cities take time
out to learn about? State THREE things.

Explain the meaning of the phrase 'took time out' (line 1) in your own words.

Why did the learners become attentive when Billy Bhembe spoke?
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14 Choose the correct answer.

The expression, 'crack of dawn' (line 9) refers to ...

A sunset.

B  daybreak.

C  midday.

D evening. (2)
1.5 Indicate whether the following statement is TRUE or FALSE. Give a reason

for your answer.
The pupils were carefully chosen to attend the camp. (2)
1.6 Name ONE thing that Thabiso Mokete regretted about the project. (1)

1.7 Why is it important for the Department to be in partnership with the Ekurhuleni
Municipality and East Rand Water Care Company? (2)

1.8 Refer to paragraph 5.

Name TWO life skills that the pupils were taught. (2)

1.9 Why was Billy Bhembe chosen to be the motivational speaker? (2)

1.10 Provide a suitable title for the passage, using no more than FIVE words. (2)
[20]
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QUESTION 2

Read the passage (TEXT B) below and then answer the questions that follow.

TEXT B

JOURNEY FROM FEAR OF XENOPHOBIA

"Police! Police! Close the curtain! Close the curtain! We pull the curtain
behind the driver and lower our heads. A few quiet but tense minutes pass.
The thumbs-up comes and the curtain is opened again to reveal the stark
landscape of the Great Karoo on both sides of the runway.

In a scene similar to the festive season migration, scores of people carrying
huge bags of luggage sit along the N1 highway heading north from Cape
Town, hitching lifts from passing trucks and bakkies. However, the mood is
tense, nothing like the jovial mood of the festive season.

Chikati is one of them. He looks on wearily as truck after truck roars past
without stopping. He is hoping to be in Johannesburg at least by the following
day, stay over at a relative's home and then catch a bus to Harare after that.
But there are stories of people spending a whole day and night waiting for a
lift and he's worried. His wife, Blessing, is at a busy garage, trying to arrange
a lift.

The foreign nationals do not want to take the train for fear of being attacked.
Also, many cannot afford the fare. Just after midday, as hopes for a lift begin
to fade, Blessing calls her husband and explains that she's struck a deal with
a truck driver.

[Adapted from an article in City Press, 11 July 2010]
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Why, in your opinion, do the passengers lower their heads when the police
are near (line 2)?

What does 'thumbs-up' (line 3) mean in the context of the passage?

Refer to paragraph 2.

What evidence is there in the passage to suggest that these people do not
choose a regular form of transport? Quote from the passage.

Indicate whether the following statement is TRUE or FALSE. Give a reason
for your answer.

Chikati is offered a lift by many drivers.

Refer to paragraph 3.

Which word suggests that Chikati has a family member in Johannesburg?

Why do the foreign nationals not take the train when they go home? Give
TWO reasons.

TOTAL SECTION A:
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SECTION B: SUMMARY

QUESTION 3

It is after the 2010 World Cup. Many young people thought their lives would have
changed for the better as a result of it. However, they complain that things have
remained the same. Your teacher has requested you to address fellow learners at the
school assembly on how the country has benefited from the 2010 World Cup.

Read the passage (TEXT C) below and write a list of SEVEN points you will include in
your talk.

NOTE:

List the SEVEN points in full sentences.

Use your own words as far as possible.

Number the sentences from 1 to 7.

Write each sentence on a NEW line.

Your seven-point summary should be NO MORE THAN 60 WORDS.

Indicate the TOTAL NUMBER OF WORDS you have used in brackets at the
end of your summary.

oM~

TEXT C

THIS COUNTRY

What did the people say when the last fan walked home and the last journalist had
written his/her last article against his/her defeated national team and when the last
vuvuzela had parted its last sad sound? What had this World Cup left for South
Africa?

It not only gave jobs and skills and hope to thousands of local people. It gave an
absolute deadline to South Africa for the introduction and improvement of all kinds of
infrastructure — not just sports grounds, but roads and bridges, airports and bus lanes
that would otherwise have not been built and which would benefit the country for
decades to come. Above all, the World Cup gave this country something intangible but
priceless: a deep sense of pride that it took on something difficult and did it well.

The sheer number of visitors — around a million — helped to open the eyes of the world
to South Africa and its potential for trade and investment. Crime that was supposed to
be one of the drawbacks of living here went down 90% in central Cape Town, and
there was not a single incident of serious crime or violence in any of the fan parks.

Of course there were disappointments, and no one could pretend that the World Cup
would solve the country's economic and political problems. But it offered a sense of
unity and confidence to a place with a tragic past. Fifa took an inspired decision to
give the World Cup to South Africa, and South Africa responded brilliantly.

[Adapted from: Sunday Times, 4 July 2010]

TOTAL SECTION B:
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SECTION C: LANGUAGE

QUESTION 4: CARTOONS AND ADVERTISEMENTS

DBE/November 2010

NOTE: MULTIPLE-CHOICE QUESTIONS: Write down only the question number

and the letter corresponding to the correct answer.

ONE-WORD RESPONSES: Write down only the question number and the

answer.

4.1 Read the cartoon (TEXT D) below and answer the questions that follow.

NOTE: In this cartoon, Mr B is the older man and Elmo is the young boy

wearing a black hat.

TEXT D

BLONDIE

Dean Young and Stan ljrcﬁ
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FRAME 1 FRAME 2

411 Refer to frame 1.
Name the game that the children are playing.

412 Refer to frame 1.

FRAME 3

(1)

What, do you think, does the repetition of the word 'beep’ indicate? (2)

413 Refer to frame 2.

Who is texting people who are hiding? (1)
414 Refer to frames 1 and 2.
How can you tell that the boy enjoys playing the game? (2)

Copyright reserved
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4.1.5 Refer to frame 2.
Why are the words 'Ready or not, here | come!' written in bold? (2)
4.1.6 Refer to frame 3.

Identify a word that suggests that Mr B is pleased that he did not
grow up in EImo's generation. (1)
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4.2 Read the advertisement (TEXT E) below and answer the questions that
follow.

TEXT E

T.- DNIESS on THE @ - ;

/_’/ | - : ﬁ:m"g? s
"-w.{lew Har.w___igéa_?ing[& Tack b ¢ o

| [Source: YOU, July 2010]

421 |dentify the slogan of the advertised product.

422 Why are some of the words in the advertisement written in big
letters?

423 Why, do you think, does the mug have wheels?

424 In your view, do you think it is healthy to drink pre-packaged soup?

4.2.5 Name the vegetable hanging on to the mug in the advertisement.

4.2.6 Identify the brand name of the product in the advertisement that is

used as a trade mark.

Copyright reserved Please turn over
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4.2.7 Give ONE indication in the advertisement that proves that the

product has no added MSG. (1)
4.2.8 In your view, what does the drawing behind the wheels suggest? (2)
4.2.9 Name ONE of the main ingredients of the new handy single pack. (1)
4.2.10 Explain, in your own words, what 'new handy single pack' means. (2)

4.2.11 What does the word 'NEW' in the advertisement suggest about the

product? (2)
4212 What word indicates that the product is useful? (1)
4213 Name the container in which the product is sold. (1)

4.2.14 Write down TWO words that have their letters joined together
(written in cursive/longhand). (2)
[30]
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QUESTION 5: LANGUAGE USAGE

Read the article (TEXT F) below and then answer the questions that follow.

NOTE:

TEXT F

MULTIPLE-CHOICE QUESTIONS: Write down only the question number
and the letter corresponding to the correct answer.

ONE-WORD RESPONSES: Write down only the question number and the
answer.

THE TEMPTATION TRAP

Self-control is important as it helps one to unlearn behaviour that stands

in the way of one's living a better life. For example, if one is an
alcoholic, life passes by as one is not fully aware of what is happening
because one is always drunk. We often hear of famous people who
could not say no to temptation. We have read about how their failure to 5
say no messed up their lives.

Nompilo Buthelezi, a life coach, says this is because they did not apply
self-control. Giving in to temptation has serious outcomes and some
actions may cost one financially, while others can destroy one's life.
"Self-control keeps one's mind at peace, helps one to live one's life 10
honestly and assures one that there is nothing to fear," says Nompilo.

Lack of self-control is destructive and addictive. There are many people
who do not have friends because they cannot control their emotions.
They say what they want to without thinking of the outcomes. Nompilo
concludes by saying that in learning how to build self-control, one needs 15
to analyse one's life and identify where one needs to apply more self-
control.

[Adapted from: Move! 30 June 2010]

5.1

5.2

The word 'important' is used in line 1 of the passage. Give the correct form of
the word 'important' in the sentences below:

5.1.1 It is of (important) to be in control to protect yourself from harm. (1)

51.2 Lack of self-control is destructive, and most (important), it can be
addictive. (1)

Choose the correct answer from the list below.

The expression 'stands in the way of one's living a better life' (lines 1 and 2)
means ...

A offers exciting opportunities for one.

B  encourages one to continue working.

C prevents one from doing something.

D  supports one to reach one's goals. (2)
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5.3

5.4

5.5

5.6

5.7

5.8

5.9
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Choose the correct word from those in brackets.

5.3.1 Nompilo Buthelezi, on (who/whom) we depend as a life coach,

states that some people do not apply self-control.

53.2 We are all aware of where we lack self-control in our lives, but

there are people (which/who) choose to ignore this.
Choose the correct answer from the list below.

The word 'alcoholic’ (line 3) is used as an/a ...

A noun.

B verb.

C adjective.
D adverb.

Give the plural form of the words in brackets in the following sentences:
5.5.1 Self-control helps people to lead better (life).

55.2 Nompilo's advice can also be useful to other (coach).
Rewrite the following sentence as a question:

We often hear of famous people who could not say no to temptation.
Begin with: Do ...

Rewrite the following sentence in the negative form:

We have read about their failure to say no.

Refer to lines 10 — 11.

"Self-control keeps one's mind at peace and helps one to live one's life

honestly," says Nompilo.

Rewrite the above sentence in reported speech, starting with:
Nompilo said that ...

Rewrite the following sentence in the past tense:

There are many people who do not have friends because they cannot control

their emotions.

Please turn over
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5.10 Give synonyms (words similar in meaning) for the underlined words as used

in the text:

5.10.1 They just say what they want to without thinking of the outcomes.

5.10.2 They cannot control their emotions.

511 Choose the correct word from those in brackets.

5111 If a partner in a relationship treats the other badly, he/she risks

(loosing/losing) his/her partner.

5.11.2 One needs to analyse one's life and identify where one needs to

(excise/exercise) more self-control.

Copyright reserved
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QUESTION 6: EDITING

The following passage (TEXT G) contains a number of deliberate errors.

passage carefully and then answer the questions that follow.

TEXT G

Read the

GREEN CONCRETE

Making cement for concrete involves heating limestone, that is turned
into pouder, clay and sand to 1 450 °C with fuel such as coal or natural
gas. The process produces a lot of carbon dioxide. Making one metric
ton of comonly used Portland cement releases 650 to 920 kg of it. Chief
scientist Nikolaos Vlasopoulos is trying to remove those substances that
are cent out into the air that take in more carbon dioxide than they take
out when cement is being made.

Vlasopoulos discovered the recipe for Novacem's cement as a graduite
student. | was investigating cement made by mixing magnesium oxides
with Portland cement he says.

When he added water to the magnesium substances with any Portland
in the mix, he found he could still make solid-setting cement that did not
depend ... carbon-rich limestone. As it became hard, carbon dioxide
reacted ... magnesium to make carbonates that strengthened the
cement while trapping the gas. Novacem is now improving the formula
so that the product's perform will equal that of Portland cement.

[Adapted from: Skyways, July 2010]

5

10
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6.1

6.2

6.3
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Refer to paragraph 2.

Punctuate the following sentence correctly:

| was investigating cement made by mixing magnesium oxides with Portland

cement he says.

Correct the spelling of the following words which have been underlined in the

passage:

6.2.1 pouder (line 2)
6.2.2 comonly (line 4)

The underlined word is used incorrectly in the following sentence. Give the

correct form of the word.

The product's perform will equal that of Portland cement.

Please turn over
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6.4 Correct the spelling of the following words which have been underlined in the
passage:
6.4.1 Vlasopoulos is trying to remove those substances that are cent out
into the air. (1)
6.4.2 He was a graduite student when he discovered the recipe. (1)
6.5 Fill in the missing prepositions in the sentences below. Write down only the

question number and your answer in the ANSWER BOOK.

6.5.1 He could still make solid-setting cement that did not depend ...
carbon-rich limestone. (1)
6.5.2 Carbon dioxide reacted ... magnesium to make carbonates. (1)
6.6 Write the following abbreviation in full:
kg (1)

[10]

TOTAL SECTION C: 60
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SECTION D: LITERATURE

Stories South African — compiled by A Lennox-Short and RE Lighton
Focus — compiled by R Meyer

Choose ONE of the extracts below and answer the questions that follow.

QUESTION 7: THE SILK SCARF — Ahmed Essop

The chauffeur-driven Mercedes Benz, followed by another Mercedes Benz in
which there were two escorts, entered the gates of the Oriental Plaza in Fordsburg
and came to a stop in the car park. The chauffeur opened the rear doors of the car
and two women dressed in designer clothing and expensive jewellery emerged.
One of them was the wife of an important official of the African Front, her husband
Clive Nebo had already been designated as the Foreign Affairs Minister in the new
government to be established after the passing of the apartheid era. She was of
medium height, with heavy loins, her smooth-skinned complexion having been
pampered by beauticians in Sandton salons.

Her companion was her friend Margaret: she was slight with a lovely smile and
teeth. The two ladies were on a shopping expedition and entered the portals of the
Plaza.

10

7.1 Explain what a chauffeur is.

7.2 In your own words, explain why the chauffeur opens the doors of the car for

the women.

7.3 From your knowledge of the story, provide the names of the two women.

7.4 Name ONE of the things that the women are wearing that indicates that they

are wealthy.
7.5 What, in your opinion, do the two women have in common?
7.6 Identify a word in line 9 that means 'spoiled'.
7.7 Indicate whether the following statement is TRUE or FALSE. Quote a phrase

of no more than FOUR words to prove your answer.

Clive Nebo will soon be the Minister for Foreign Affairs.

7.8 Name TWO things that make it difficult for one of the women to get the silk

scarf.

7.9 Why, in your opinion, do the women's bodyguards decide to enter the shop

where the women are?
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7.10 Answer the following questions based on your knowledge of the story:

7.10.1 Why does Mr Sader intervene in the argument between Mrs Nebo

and Mr Sakur later in the story? (1)
7.10.2 How is the situation between the two characters resolved? (1)
7.1 Is the title of the story suitable? Give a reason for your answer. (2)
[20]
OR
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QUESTION 8: UNTO DUST — Herman Charles Bosman

| have noticed that when a young man or woman dies, people get the feeling that
there is something beautiful and touching in the event and that it is different from
the death of an old person. In the thought, say, of a girl of twenty sinking into an
untimely grave, there is a sweet wistfulness that makes people talk all kinds of
romantic words. She died, they say, young, she that was so full of life and so fair. 5

She was a flower that withered before it bloomed, they say, and it all seems so
fitting and beautiful that there is a good deal of resentment, at the funeral, over
the crude questions that a couple of men in plain clothes from the landdrost's
office are asking about cattle-dip.

8.1

8.2
8.3

8.4
8.5

8.6

8.7

8.8

8.9

8.10
8.11
8.12
8.13

According to your knowledge of the story, name the government that allowed
the Coloured people in the Cape to vote.

In your opinion, what made it difficult to tell the bodies of the dead men apart?

What is the difference between the death of an old person and that of a young
person?

To whom does the pronoun 'I' (line 1) refer?

What type of relationship does Stoffel Oosthuizen have with the person
mentioned in QUESTION 8.47

Explain what the expression 'sinking into an untimely grave', as used in lines
3 and 4, means.

The word 'wistfulness' (line 4) means ...

A acceptance.
B  anger.

C sadness.

D  confusion.

Explain the meaning of the following statement.

'She was a flower that withered before it bloomed' (paragraph 2).
Name the figure of speech used in the following sentence:

She was a flower.

From your knowledge of the story, how did Hans Welman die?
Where was Hans buried?

Why, do you think, was the yellow dog sitting at Hans's grave?

Name ONE thing that made Hans and his killer equal.

TOTAL SECTION D:
GRAND TOTAL:
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